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Section – A 

I. Write the number names for the following: 

a)  796 ____________________________________________________________________________. 

b) 432 ____________________________________________________________________________. 

c) 303 ____________________________________________________________________________. 

d) 112 ____________________________________________________________________________. 

e) 220 ____________________________________________________________________________. 

f) 999 ____________________________________________________________________________. 

g) 878 ___________________________________________________________________________. 

h) 545 ___________________________________________________________________________.  

i) 666 ___________________________________________________________________________. 

j) 1000 __________________________________________________________________________. 

II. Write the number numerals for the following: 

a) One hundred and fourty _______________________. 

b) Three hundred and sixty six ____________________. 

c) Two hundred and two ________________________. 

d) Five hundred and fourty nine _________________. 

e) Nine hundred and ninety _____________________. 

III. Fill in the blanks with either (<,>,=): 

a) 1 4 1 ____________ 3 8 3                                   b) 4 5 4 ______________ 4 4 5 

c) 1 7 0 ____________ 1 0 7                                   d) 6 4 6 ______________ 9 3 6 

e) 55  _______ 15.                                                   f)  101  ___________ 111. 

g)  999 ____________ 666.                                    h)  114 ____________ 411. 
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i) 232 ____________ 232.                                      j) 818 ____________ 881. 

IV. Write the place value of the underlined digits in words: 

a) 3 4 1 = ____________________                       b) 7 0 9 = ____________________ 

c) 1 0 0 0 = ___________________                      d) 6 7 8 = _____________________ 

e) 5 3 0 = ____________________                       f) 9 6 9 = ______________________ 

g) 2 2 2 = ____________________                       h) 8 0 3 = _____________________ 

i) 1 0 6 = ____________________                        j) 9 9 9 = _____________________ 

V. Arrange the following: 

Ascending order: 

a) 221, 89, 313, 991, 832, 27. _______________________________________________________________ 

b) 335, 423, 225, 161, 886, 71. ______________________________________________________________ 

c) 202, 133, 79, 667, 966, 67. _______________________________________________________________ 

d) 876, 949, 300, 432, 31, 222. ______________________________________________________________ 

Descending order: 

a) 119, 799, 281, 828, 107. _________________________________________________________________ 

b) 544, 624, 714, 864, 983. _________________________________________________________________ 

c) 712, 219, 909, 176, 396. _________________________________________________________________ 

d) 866, 439, 914, 560, 759. ______________________________________________________________ 

VI. Match the following: 

a.   79 + 13                               74    (                     ) 

b.  36 + 38                                  9   (                      ) 

c.  13 + 29                                 18   (                     ) 

d.  91 - 73                                 92   (                      ) 

e.  46 - 45                                 42   (                      ) 

f.  69 - 60                                   1  (                       )   
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VII.  Fill in the missing number: 

         

 

 

   

VIII. Fill in the blanks: 

a) 6 x 7 = ____________________                             b) 9 x 2 = _____________________ 

c) 8 x 9 = ____________________                             d) 4 x 8 = _____________________ 

e) 7 x 7 = ____________________                             f) 5 x 6 = _____________________ 

g) 3 x 9 = ____________________                            h) 9 x 9 = _____________________ 

i) 8 x 4 = ____________________                             j) 7 x 4 = _____________________ 

k) 9 x 3 = ___________________                             l) 6 x 9 = _____________________ 

IX. Solve the following: 

a)  8 3 7                   b) 1 4 7                     c) 9 3 2                         d) 7  9  5                        e)  7  7  7 

+   1 5 8                    + 1 9 7                       +   3 8                          + 1  5  9                        +   2  2  3 

 

 

f) 6  6  6                   g) 3  0  4                   h) 1 1  9                      i) 5  5  5                          j) 8  0  9 

+ 3  3  5                   +  2  9  8                    + 1 0  9                      + 4  4  6                           +     9  2 

 

 

k) 9  9  9                  l) 7  0  8                  m) 3  9  0                     n) 6  0  0                         o) 2  7  4 

-   7  7  7                   - 5  6  9                    -  2   9  0                     -   1  8  9                          -      9  6 

 

20

 

 

  

  35     55  

10   40    
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p) 1  0  0                q) 7  7  7                    r) 9  0  1                     s) 1  0  3                       t) 5  6  4 

 -      8  8                 -  4  4  4                    -   5  6  8                      -      1  4                       -  1  1  1  

 

 

a)  3  2                     b) 7  0                    c) 3  3  3                       d) 2  0  7                        e)  2  1  6 

    x   5                      x      3                      x        3                           x      4                             x       7 

 

 

f) 6  6  2                  g) 1  2  3                 h) 4  4  4                     i)  9  0  0                        j)  2  5  5 

    x     6                       x      5                     x       4                         x      2                             x      2 

 

 

X. Solve the following word problems: 

1) In a school there are 538 girls and 284 boys. How many children study in the school? 

  

  

  

  

 

2) Seema has 841 dresses. She gave 278 dresses to charity. How many dresses does Rita have left with   

    her? 
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3) There are 345 marbles in one box and 298 marbles in another box. How many marbles are there in  

    all? 

  

  

  

  

4) Bugs Bunny has 987 lettuce leaves to eat. If he has eaten 591 of them, how many are left? 

  

  

  

  

5) There were 332 bicycles in a cycle stand in the morning. 298 more were parked there by afternoon.  

    How many cycles were there in all? 

  

  

  

  

6) Roopa has a 698 page notebook. If she has written on 489 pages, how many empty pages are left in  

     her notebook? 

  

  

  

  

 



               Revision Paper 2012-13 
 

               6 

 

7) Sania has 492 stamps in her collection. Her mother gave her 280 more stamps. How many stamps  

    does she have now? 

  

  

  

  

8) Amit had 980 marbles. He gave away 390 marbles to his fiend Asmita. How many marbles are left  

    with him? 

  

  

  

  

9) Mansoor scored 469 runs in the first innings and 255 in the second innings in a cricket match. Find  

    the total runs scored by him in the match? 

  

  

  

  

10) There are 658 students in a school. 346 of them are boys. How many girls are there in the school? 

  

  

  

  

 


